Reading 4
Read the paragraph below and then answer the question.
The Internet, intranets, and extranets all use TCP/IP and require the same hardware, including communication lines, servers, and routers. All three networks can also be accessed using standard Web browsers. the differences between the three networks lie in how they are used, who owns them, and who is allowed to access them. While the Internet is accessible to everyone, intranets and extranets are owned by the organizations that create and maintain them.
According to the paragraph, which of the following statements is true?
A. Intranets are private, while extranets are public.
B. Intranets require different servers then extranets.
C. People can use the same browsers to access an extranet as they use to access the Internet.
D. The Internet uses public communication lines, but intranets and extranets use private communication lines.

Read the paragraph and table below and then answer the question.
Your teacher has asked you to research and write a report about immigration patterns in the United States during the twentieth century. Include a graph to illustrate your findings.
	Types of Software
	Function

	Web browser
	Use to visit Web sites online.

	E-mail
	Use to exchange messages and files with other computer users.

	Word processing
	Use to create letters, reports, and newsletters.

	Spreadsheet
	Use to work with numbers and calculations to create tables, charts, and graphs.

	Database
	Use to organize and retrieve large amounts of information.


Based on the table above, which three types of software would best help you to complete your assignment?
A. Web browser, e-mail, and spreadsheet
B. Spreadsheet, word processing, and database
C. Database, Web browser, and spreadsheet
D. Spreadsheet, Web browser, and word processing
